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a. Use cylindrical method to find the solid when the region enclosed by the function y =1-x *and
thex —axis , is revolved about thex —axis , where—1<x <1. (Do not evaluate the integral).

(5-points, suggested time =10 min.)
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b. Use the washers method to find the volume of the solid generated by revolving the region
enclosed by y =,/4x , y =2x about the line y =—1 (7-points, suggested time =10 min.)
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. 1
a. Find the arc length of the curve x :—ﬁ - —J—E from y =2 to y =4 (Do not evaluate the
Y

integral). (6-points, suggested time =6 min)
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Question Two (14-Points)

s
3 24 FE El
SN NP . NERESY @
2 3 )
TT\ 0 -
L_,,(Ju(%) (J\/.._._.J(Jé.jq-aj)c)y

b. Find the area of the surface generated by revolving the parametric curve given by the

equations: x (7 )= \/—3;5:&112 (¢),» (1) :%ws2 (2);0<t ii; about thex —axis .

(8-points, suggested time =10 min.)
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Question Three (8 -Points)
Answer the following as TRUE or FALSE: (2-points each, suggested time =10 min.)
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Question Four (25-Points)

Evaluate the following integrals:
J‘t:a,n2 (x )sec’(x )dx (4-points, suggested time =5 min.)
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b. f2x Sin 1[—]61&7 (0-points, suggested time =8 min.)
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dx - . .
I . (5-points, suggested time =5 min)
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(10-points, suggested time =10 min.)
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Question Five (11-Points)
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Consider the improper integral:

a. Why it is an improper integral? (2-points, suggested time =1 min.)
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b. Evaluate the integral if it converges. (9-points, suggested time =10 min.)
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